EARAROBREBRT —5 XN—ZXBISH—F 20224E882H (X)) 5@EIIIE2H

IV EEE CI3MWA HSFZ—R ‘(fﬁ} 5 ‘I%EH?’JF&] - | & 100 B
[AE<) 1 7% :800,000 § ~ 2 37:320,000 9  37:200,000 9 437 :120,000 9 . 57 :80,000
HERE HEne, If BE | BT 78 |91L BE | BEER | LF |SER | A= | BE | 56 B / B / SENE
— R )13 :30. 6| - wWEZ (1B
1181 Swkxr—DUITVUR 4 4 50 1(??)5 2-2-2-2 | 37.6 1 (5::; el o
RS /LI VR B:ZvF—FU—T B4
. o NEER 0. i 0 - MEES (118)
21710l U= 1 52 # 4 | BEE 17 1-1-1-1 | 38.0 2 (4_7;; P
RYIRAIA TSR B:FAAYYTSD— DiaL:e]

A # 5 | BEZ 1:32.6 5-35-4 [39.1| - | 3 | 479 |FHE— (&)
EH 2 [ N—EZ—=7~X)L A53.0 ©) (-5) | BTEREEE

R:NA40 B:IFANAU— TH 0B
~ S0 s 4 | EHE 1:33.0 6-6-8-5 |39.2| - 7 | 436 |fEEEERC (1)
4181217V 39 54.0 ) (5 | @ =yIIER=—LF1YTR
R:IZI/ELLVY K BII—FIVML—R FrIEFYRT7—L
3 AEFEES 1:33.4 -9-9- 4 - 4 {ERQART) (fots)
s | O RTLR LRI o A P sk
RNV v =)L B:DYIH—RY R ifEike]
SRR 4 | EIHEAXER 1:33.5 7-7-11-8 [39.5| — n 429 | @E—E (o)
61111 | FvRTET 17 a5 56.0 1/2) © wE-2
RiISRATVT— By v INIES— IE HE—

W, <rEFELIU- 5 | Uik 1:33.7 3333 [40.4| — | 4 | 459 :Egﬁ (A1)
RI—HYUN— BREVLIISTAR ' o | ) s
a7l o| vrrzvoFYz 5 | PEEA 1338 Bo67 [40.0( - | 6 | 468 |ECAC ()
RIAZNI—ZITA BUPILF—RA N 0 1553 g
. ST w4 | T 1:33.9  [12-12-10-11]39.7| — | 9 | 480 |#EAE (1B
9|5/6 ELTIILE N *32.0 e o5 LB
RIN—EYTr— BARTHFUT—F RIS
4 6 | SIS 1:33.9 11-10-7-12 [ 39.9 | — 5 512 | WIEEE (1)
1087 z:}gghl):b;wb B:O0—XAw h— o0 @e) #3) #ufﬂ;%?—A
_ st 5 | FERTEE 1:34.2 10-10-12-10/ 39.9 | — 12 | 457 |)\KIZ (1)
] 3 EXRAE A 54.0 a1 (o) |EEITES 8
RT—IURI—Z BN I—VIA U-M- A
T 34.3 345 [40.8] - | 10 8 |llBE GRT)
12/5|5 9/FF i 5 | e 13| s [y O e s arevsy
RIYZRAI—SZRI— B TSFFL—Y ]
@ 11— —BEBEEI
1T=zr= 10,11,4,5,2,12,1,9,8,3,7.,6
23— — 10,11, (2,4,5),12,1,9,8,(3.7) .6
3a=5r= 10,11,4,5,2,9,7,12,8,6,1,3
41—7— 10,11.4,2,(5,12),9,(1,8) ,3,6,7
0 ILRE
B P 1 160M J4 R 10-11 140 1 = 7-8 230 3EE 2-10-11 4804
B B 11 1004 2-11 240 1 B 8-7 340 3EH 11-10-2 1,110
10 1104 2-10 260 B E 10-11 240
2 120M B & 11-10 360M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



